Apples are
Answer:

A2

than oranges.

Which is
Answer:

, a banana or a watermelon?

Pizza is
Answer:

than a sandwich.

Which is
Answer:

, adonut or a carrot?

Ice cream is

Answer:

than yogurt.

Which is
Answer:

, a burger or a salad?

Cheese is
Answer:

than butter.

Which is
Answer:

, a cake or a slice of bread?

Cupcakes are
Answer:

than muffins.

Which is
Answer:

, pasta or rice?




Answers

Apples are than oranges.
Answer: smaller

Which is , a banana or a watermelon?

Answer: heavier

Pizza is than a sandwich.

Answer: bigger

Which is , adonut or a carrot?
Answer: healthier

Ice cream is than yogurt.
Answer: sweeter

Which is , a burger or a salad?
Answer: unhealthier

Cheese is than butter.

Answer: cheaper

Which is , a cake or a slice of bread?
Answer: sweeter

Cupcakes are than muffins.
Answer: sweeter

Which is , pasta or rice?
Answer: tastier



